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Section : English Language

Q.1 Select the most appropriate homophone to fill in the blank.

The shareholders are planning to control of the company from the
current directors.

Ans 1. roost
2. roast
3. wrest

4. rest

Question ID : 264330148943
Status : Answered
Chosen Option : 3

Q.2 Identify the INCORRECTLY spelt word in the following sentence.
Research has proved that meteors have largely destructed and impackted earth.

Ans 1. impackted
2. Research
3. proved

4. destructed

Question ID : 264330141311
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option that can substitute the underlined words in the
given sentence.

No less than eight pedestrians were killed in the accident.
Ans 1. No few than

2. None less than
3. No fewer than

4. No lesser than

Question ID : 264330142567
Status : Answered
Chosen Option : 3




Q.4 Select the most appropriate ANTONYM of the given word from the following sentence.
Leisure
He was relaxing and enjoying last week in Spain but now he is working hard for the
firm.

Ans 1. enjoying
2. working
3. relaxing

4. hard

Question ID : 264330141298
Status : Answered
Chosen Option : 2

Q.5 Select the option that expresses the following sentence in active voice.

A remarkable discovery was made by the scientist.
Ans 1. The scientist made a remarkable discovery.

2. The discovery made by the scientist was remarkable.
3. The remarkable scientist made a discovery.

4. A remarkable discovery is made by the scientist.

Question ID : 264330148718
Status : Answered
Chosen Option : 1

Q.6 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

He speaks pleasantly / with her yesterday / evening but not today.

Ans 1. He speaks pleasantly
2. with her yesterday
3. No error

4. evening but not today.

Question ID : 264330150432
Status : Answered
Chosen Option : 1

Q.7 Given below are four jumbled sentences. Select the option that gives their correct
logical sequence.
A) The young lion tore through the formation and decimated the enemy lines.
B) The enemy soldiers panicked and started killing each other.
C) It is said that he used a weapon with a hallucinating agent that created a chimera of
hundreds of Abhimanyus.
D) Seeing the rout they were facing, young Abhimanyu led a powerful counterattack.

Ans 1. CDAB
2. DACB
3. ACBD
4. ABCD

Question ID : 264330149908
Status : Answered
Chosen Option : 2




Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

A person who does not believe in the existence of God
Ans 1. Atheist

2. Priest
3. Theist

4. Satan

Question ID : 264330144375
Status : Answered
Chosen Option : 1

Q.9 Select the most appropriate active form of the given sentence.

The movie was directed by the famous filmmaker and produced by the studio.

Ans 1. The famous filmmaker directed the movie and the studio produced it.
2. The movie was being directed by the famous filmmaker and produced by the studio.
3. The movie was directed and produced by the famous filmmaker and the studio.

4. The famous filmmaker and the studio collaborated to make the movie.

Question ID : 264330149598
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

Though Ravi is silent and reserved, he has got afinger in every pie.
Ans 1. special interest in certain things

2. involved in many things
3. an opinion of his own

4. a cold attitude toward everything

Question ID : 264330143991
Status : Answered
Chosen Option : 2

Q.11 Select the option with the correct spellings to replace the underlined words in the
given sentence.
He exhibitad his senseles behaviour at that conference.

Ans 1. exhibited; sanseless
2. exhibited; senseless
3. exibited; senseless

4. exhebited; sanseless

Question ID : 264330143245
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate synonym of the underlined word in the given sentence.
She became frantic as she lost her purse on the busy streets of the markets.

Ans 1. Hectic

2. Composed
3. Audacious

4. Agitated

Question ID : 264330143215
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate option that can substitute the underlined words in the
given sentence.

How do you think the internet has influenced how we utilise news and media?

Ans 1. has managed the patterns we ingest
2. has revoked the way we interact
3. has maintained how we receive

4. has impacted the way we consume

Question ID : 264330144142
Status : Answered
Chosen Option : 4

Q.14 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
(P) and the challenges faced in its
(Q) the report discusses
(R) the state of renewable energy
(S) implementation along with potential solutions

Ans 1. QSRP
2. QRPS
3. RQPS
4. PQRS

Question ID : 264330144199
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
Meenakshi called out for the neighbourhood to get support for her campaign.

Ans 1. called by the neighbourhood
2. called of the neighbourhood
3. called in the neighbourhood

4. called around the neighbourhood

Question ID : 264330143630
Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate synonym of the given word.

Indispensable
Ans 1. Destructive
2. Imperative

3. Drastic

4. Invariable

Question ID : 264330144242
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate synonym of the given word.
Soothe

Ans 1. Move
2. Pacify
3. Instigate

4. Escalate

Question ID : 264330143143
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined words in the
given sentence.

After he let the cat out of the bag about the surprise party, it was no longer a secret.

Ans 1. murmur in the ears
2. reveal a confidential information
3. show off to his friends

4. take the gifts and brag

Question ID : 264330144167
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate synonym of the given word.
Fervour

Ans 1. Apathy
2. Hatred
3. Enthusiasm

4. Disgust

Question ID : 264330143939
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
He tends to put off doing_ his work until the last minute, leaving important tasks
unfinished and causing himself unnecessary stress.

Ans 1. decline
2. adjourn
3. procrastinate

4. dwindle

Question ID : 264330143139
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If there was such a thing as perfect food, eggs would be a (1) . They are
readily available, easy to cook, affordable and packed 2) protein. An
egg is meant to be something that has all the right ingredients to grow an organism, so
obviously, it is very nutrient-dense. Eating eggs alongside other food can 3)

our bodies absorb more vitamins too. For example, one study found that adding an
egg to a salad can increase how much vitamin E we get from the salad. But for decades,
eating eggs has also been controversial due to their 4 cholesterol
content—which some studies have linked to an increased risk of heart disease. Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body's
cells. We 5) think of it as ‘bad’. But cholesterol is a crucial building block
in our cell membranes. It also is needed for the body to make vitamin D and the hormones
testosterone and oestrogen.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. contender
2. compete
3. contend

4. quickly

Question ID : 264330149827
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If there was such a thing as perfect food, eggs would be a 1) . They are
readily available, easy to cook, affordable and packed 2) protein. An
egg is meant to be something that has all the right ingredients to grow an organism, so
obviously, it is very nutrient-dense. Eating eggs alongside other food can ?3)

our bodies absorb more vitamins too. For example, one study found that adding an
egg to a salad can increase how much vitamin E we get from the salad. But for decades,
eating eggs has also been controversial due to their (4) cholesterol
content—which some studies have linked to an increased risk of heart disease. Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body's
cells. We 5) think of it as ‘bad’. But cholesterol is a crucial building block
in our cell membranes. It also is needed for the body to make vitamin D and the hormones
testosterone and oestrogen.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. for

2. with
3.0n

4. at

Question ID : 264330149828
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If there was such a thing as perfect food, eggs would be a 1) . They are
readily available, easy to cook, affordable and packed 2) protein. An
egg is meant to be something that has all the right ingredients to grow an organism, so
obviously, it is very nutrient-dense. Eating eggs alongside other food can ?3)

our bodies absorb more vitamins too. For example, one study found that adding an
egg to a salad can increase how much vitamin E we get from the salad. But for decades,
eating eggs has also been controversial due to their 4) cholesterol
content—which some studies have linked to an increased risk of heart disease. Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body's
cells. We 5) think of it as ‘bad’. But cholesterol is a crucial building block
in our cell membranes. It also is needed for the body to make vitamin D and the hormones
testosterone and oestrogen.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. interrogate

2. abate
3. questioned

4. help

Question ID : 264330149829
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If there was such a thing as perfect food, eggs would be a 1) . They are
readily available, easy to cook, affordable and packed 2) protein. An
egg is meant to be something that has all the right ingredients to grow an organism, so
obviously, it is very nutrient-dense. Eating eggs alongside other food can ?3)

our bodies absorb more vitamins too. For example, one study found that adding an
egg to a salad can increase how much vitamin E we get from the salad. But for decades,
eating eggs has also been controversial due to their (4) cholesterol
content—which some studies have linked to an increased risk of heart disease. Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body's
cells. We 5) think of it as ‘bad’. But cholesterol is a crucial building block
in our cell membranes. It also is needed for the body to make vitamin D and the hormones
testosterone and oestrogen.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. low

2. medium
3. ideal

4. high

Question ID : 264330149830
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If there was such a thing as perfect food, eggs would be a 1) . They are
readily available, easy to cook, affordable and packed 2) protein. An
egg is meant to be something that has all the right ingredients to grow an organism, so
obviously, it is very nutrient-dense. Eating eggs alongside other food can ?3)

our bodies absorb more vitamins too. For example, one study found that adding an
egg to a salad can increase how much vitamin E we get from the salad. But for decades,
eating eggs has also been controversial due to their 4) cholesterol
content—which some studies have linked to an increased risk of heart disease. Cholesterol, a
yellowish fat produced in our liver and intestines, can be found in every one of our body's
cells. We 5) think of it as ‘bad’. But cholesterol is a crucial building block
in our cell membranes. It also is needed for the body to make vitamin D and the hormones
testosterone and oestrogen.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. normally
2. remotely
3. excitedly

4. intermittently

Question ID : 264330149831
Status : Answered
Chosen Option : 1

Section : General Intelligence




Q.1

Ans 1.
2.
3.
Question ID : 264330146098
4. Status : Answered
Chosen Option : 4
Q.2
Ans
33
23
- 53 Question ID : 264330146889
Status : Answered
Chosen Option : 2
Q.3
Ans 1.
2.
3. Question ID : 264330147072
4 Status : Answered
' Chosen Option : 3
Q4
Ans 1. 128
2. 132
3. 120
4. Question ID : 264330147406

Status : Answered
Chosen Option : 2




Q.5

Ans 1.
2. 351
3.
4. Question ID : 264330146431
Status : Answered
Chosen Option : 3
Q.6
Ans 1.
2.
3.
4 Question ID : 264330146953
' Status : Answered
Chosen Option : 2
Q.7
Ans 1. 7§
2. 74
3. 77
4. T8 Question ID : 264330146890
Status : Answered
Chosen Option : 2
Q.8
Ans 1
2.
3.
4. Question ID : 264330146965

Status : Answered
Chosen Option : 4




Q.9

Ans 1.
2.
3.
Question ID : 264330147056
4. Status : Answered
Chosen Option : 1
Q.10
Ans
Question ID : 264330146642
Status : Marked For Review
Chosen Option : 3
Q.11
Ans L YDRT
2. YCPQ
3. WANO
4. WCNQ Question ID : 264330151982

Status : Answered
Chosen Option : 3




Q.12

Ans

=
—
=

Question ID : 264330147348
Status : Answered
Chosen Option : 3




Q.13

Ans
1 VAN
’ 0y
] Y
4. A
® Question ID : 264330147221
Status : Answered
Chosen Option : 4
Q.14
Ans 1. -1
2.0
3. 5f
4. 3 Question ID : 264330146585

Status : Answered
Chosen Option : 3




Q.15

Ans 1.
2.
3.
4 111 Question ID : 264330146416
Status : Answered
Chosen Option : 1
Q.16
Ans 1.
2.
3.
4. .
Question ID : 264330147168
Status : Answered
Chosen Option : 2
Q.17
Ans 1.21:43
2. 46:93
Question ID : 264330150904
3.17:35 Status : Answered

4.30:59

Chosen Option : 4




Q.18

Ans 1. Both conclusions I and II follow
2. Only conclusion III follows
3. Both conclusions I and III follow Question ID : 264330147466
. Status : Answered
4. Only conclusion [ follows Chosen Option : 3
Q.19
Ans 1. 235:47:233
2. 326 :48 : 472
Question ID : 264330150868
3. Status : Answered
4. 548 - 62 - 631 Chosen Option : 1
Q.20
Ans 1
2.
3 Question ID : 264330146394
4. Status : Answered

Chosen Option : 1




Q.21

Ans

K|

Question ID : 264330146470
Status : Answered
Chosen Option : 3




Q.22

Ans 1.

Question ID : 264330146689
Status : Answered
Chosen Option : 2

Q.23 R is the father of P, P is the sister of Q. Q is the grandson of T. S is the only child of M, M is married to T.

R is married to 8 How is S related to P?

Ans L Sister
2. Daughter
3. Mother’s mother
4 Question ID : 264330146720
- Mother Status : Answered
Chosen Option : 4
Q.24
Ans 1.1
2. 92
3. Question ID : 264330152165
Status : Answered
4. 3

Chosen Option : 3




Q.25

Ans

[

Clarify : Elaborate

2. Descend : Ascend
3. Stop : Terminate

»

Brave : Fearless

Question ID : 264330150892
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1

A1 p?—q? = 4/pq
2. p* —q° =8,/pq
3 p*+q® =4pq

4 p* +q* = 4pq

Question ID : 264330150412
Status : Marked For Review
Chosen Option : 1

Q.2
Ans 1. §%
2. 4.5%
3. {04
4. 404 Question ID : 264330149418
Status : Answered
Chosen Option : 3
Q.3
Ans 1.
2.
3.
4. Question ID : 264330146788

Status : Answered
Chosen Option : 1




Q.4

Ans N 238

Question ID : 264330150009
Status : Answered
Chosen Option : 3

Q.5

Ans 11,800
2. 2,000
3. 2,700

4,
2,400 Question ID : 264330151960

Status : Answered
Chosen Option : 2

Q.6

Ans 1.9

Question ID : 264330147916
Status : Answered
Chosen Option : 4

Q7 The remainder of the term 9+ 92 +...+ 9(2*1) when divided by 6 is:

Ans 1]
2.

4
3.2
3

Question ID : 264330148885
Status : Answered
Chosen Option : 4




Q.8

Ans 1111
2.
3 121
4,
Question ID : 264330148218
Status : Answered
Chosen Option : 3
Q.9
Ans 1.
2. 325
3..522
4. 252 Question ID : 264330147976
Status : Answered
Chosen Option : 4
Q.10
Ans 1.
2.
3.
4. Question ID : 264330146779
Status : Answered
Chosen Option : 3
Q.11
Ans 1.
2.1:9
3.
4., Question ID : 264330147699

Status : Answered
Chosen Option : 4




Q.12

Ans 1 16
2. 17
3 14
4. 10 Question ID : 264330151064
Status : Answered
Chosen Option : 4
Q.13

Ifx +i = 2. then the value of x** + ﬁ is:

Ans 1.0

2.1

3.

4. 7

Question ID : 264330148032
Status : Answered
Chosen Option : 3

Q.14

The data given in the table shows the number of boys and girls enrolled for
different games in an academy over 5 years.

Basketball Football Cricket

vears | Boys | Girls | Boys | Girls | Boys | Girls

2018 | 4o 34 42 37 45 35

2019 | 40 41 44 38 42 32

2020 | 43 40 40 32 44 38

2021 37 44 43 25 34 28

2022 34 41 41 32 41 39

‘Which game has the maximum enrollment and during which year?

Ans 1.

Question ID : 264330147633
Status : Answered
Chosen Option : 4




Q.15

Ans 110
2. 12
3. 16
4. 8
Question ID : 264330148830
Status : Answered
Chosen Option : 3
Q.16
Ans 1. 2504
2. 239 _
Question ID : 264330151148
3. 20% Status : Answered
4. 2494 Chosen Option : 4

Q.17 A sum of 10,000 was invested at a rate of 10% per annum for a period of 2 years, compounded half-yearly. Find the

compound interest.

Ans 1 %2,151.0625
2. 22,055
3. %2,255
4. %2,155.0625

Question ID : 264330150966
Status : Not Answered
Chosen Option : --




Q.18

Ans 1.
2.
3.
4,
Question ID : 264330147752
Status : Answered
Chosen Option : 3
Q19 2ab . .
Ifax+by=1 and bx + ay = — oy then the value of x (in terms of @ and b ) is:
a“+
Ans
1. 2B
aZ+h?
a
2.
aZ+b?
3. b
aZ+h?
4 Za
" a?+b? Question ID : 264330151393
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.20
Ans 1.
2.
3.
4,
Question ID : 264330148084
Status : Answered
Chosen Option : 4
Q.21
Ans 1.
2.
3. 20
4. 27

Question ID : 264330147670
Status : Answered
Chosen Option : 1




Q.22

Ans 1.249:131
2. 589:483
3.128-269 Question ID : 264330150046
Status : Answered
4. 358:249 Chosen Option : 2
Q.23
Ans 1. 7.2
2. 7.8
3. 8
Question ID : 264330146792
475 Status : Not Answered
Chosen Option : --
Q.24
Ans 1.5
2. 13
3. 6.5
4. 12 Question ID : 264330148836

Status : Not Answered
Chosen Option : --




Q.25

AN 11360
144°
- 120°
4 168°

N

w

Question ID : 264330147796
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q.1

Ans 1.74.04%

2. 90.01%
3. 05.46%
4. 82.14% .
Question ID : 264330150283
Status : Answered
Chosen Option : 1
Q.2
Ans 1
2.
3.
Question ID : 264330146546
4. Status : Answered
Chosen Option : 1
Q.3
Ans 1. hockey

2. badminton
3. cricket
4. football

Question ID : 264330152385
Status : Answered
Chosen Option : 1




Q4

Ans 1.
2.
3. 750
4. 350
Question ID : 264330145725
Status : Answered
Chosen Option : 1
Q.5
Ans 1. 7
2.
312
4. 8
Question ID : 264330146119
Status : Answered
Chosen Option : 4
Q.6
Ans 1.
2.
3.
4,
Question ID : 264330145895
Status : Answered
Chosen Option : 1
Q.7
Ans 1.
2.
3.
4.

Question ID : 264330145693
Status : Answered
Chosen Option : 4




Q.8

Ans 1.
2.
3.
4.
Question ID : 264330145823
Status : Answered
Chosen Option : 4
Q.9
Ans 1.
2.
3.
4. ]
Question ID : 264330150228
Status : Answered
Chosen Option : 1
Q.10
Ans 1.
2.
3.
4.
Question ID : 264330150237
Status : Answered
Chosen Option : 1
Q.11
Ans 1.
2.
3. ITTF-AATU Asian Cup

Question ID : 264330146300
Status : Not Answered
Chosen Option : --




Q12 wwWhich of the following is an open pit copper mine?

Ans 1.
2. Bastar
3.
4. Ballari
Question ID : 264330150253
Status : Not Answered
Chosen Option : --
Q.13
Ans 1.
2.
3.
4.,
Question ID : 264330145780
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2.
3.
4,

Question ID : 264330150052
Status : Answered
Chosen Option : 2

Q15 The minimum distance of distinct vision for a young adult person with no defect in eves is:

Ans 1. 20m
2. 25cm
3. 20cm

4 25m _
Question ID : 264330146384

Status : Not Answered
Chosen Option : --




Q.16

Ans 1.
2.
3.
4.
Question ID : 264330145761
Status : Not Answered
Chosen Option : --
Q.17
Ans 1
2.
3.
4.
Question ID : 264330144728
Status : Answered
Chosen Option : 3
Q.18
Ans 1.
2.
3.
4.
Question ID : 264330152524
Status : Not Answered
Chosen Option : --
Q.19
Ans L. Abdulla
2. Alberuni
3. Ferdowsi
4. Uthi

Question ID : 264330150205
Status : Not Answered
Chosen Option : --




Q.20

Ans
3.
Question ID : 264330145800
Status : Not Answered
Chosen Option : --
Q.21
Ans 1. Guwahati
2. Kolkata
3. Kochi
4,
Question ID : 264330150376
Status : Answered
Chosen Option : 4
Q.22
Ans - Article 18
- Article 19
- Article 17
- Article 16
Question ID : 264330150358
Status : Answered
Chosen Option : 4
Q.23
Ans

Question ID : 264330144779
Status : Not Answered
Chosen Option : --




Q.24

Ans

Question ID : 264330144665
Status : Answered
Chosen Option : 3

Q.25 which of the following nutrients is available mainly in apples?

Ans

L Co
2.

3. K
4.5

Question ID : 264330145677
Status : Not Answered
Chosen Option : --
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